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Find 70% of £32

20%0of =44

Work out 100 + 7 giving your answer to 2 d.p.

£280 is shared equally between 16 people. How much will each person
get?

Exercise books cost £0.25 each. How much will 400 cost?

A company pays Google 13.5 pence every time a customer clicks through
to their website. In a month, 450 customers click through. How much
does the company owe? Given your answer in pounds.

Amy and Bob split an amount of money in the ratio 2:3. Amy then gives

20% of her money to Chloe. Chloe receives £40. How much money did
Amy and Bob split?



